RS (bl 3)
BEs= 2011/03/22 06:00

BE%E1 KR

YA bl 0 141°02°10" — 3772512

fElE i 92km X 92km

ETREE = 12000 m

YA bRLHEDORE  : EikE 1.3 m/s
ARZEE : DB

FFEETILE= PHYSIC

AEAY B KFEHFE= 200 km
[RLBI)

RERZE

—

5m/s

0 6EERIES 1 — 2 BIF



RIPERE (IUxE) (HlEE) . BEE1 28F LiEE BibdbE  : 141°02°08 — 37°25°18°

ABS= 2011/03/22 06:00 - 2011/03/22 07:00 -t 418 : 9%km X 92km
SRF—% = GPV+EHE (2011/03/22 06:00) £T FREE =  1.00m
R T ity s — (Af]
- RR[PBEEER Ba/m3)
1=1.00x10 9

2=5 00)(10 _10 cooosoee
3=1.00X10 10 cmecamoa

4=5.00%10 ! =ececceme
5=1. 00X 10 “11 emeccmne.

BABE=4 9%10 ~%Ba/m3
B AOTEILE 0.6 knihs (+EN)

AIEETILE= PRWDA21
EFERETINE= BETETIN
[SHERM)
HEAY 2 KFEAE= 1.00 kn
MEE = 10.0m
PABEEE  =20000 MWD/MTU
[RFIFFEIERZ=2011/03/11 16:00
KB BBEAREZ  =2011/03/22 06:00
HMEE— R=E8KH
BHiE- e (§8) - Ba/h (Ba)
=RF - :1.00x10 0 (1.00x10 O

—‘F%ﬁEmm

40 ﬂ”m

60 ka J@mm r40 i

O 6RERIER1 —25F




ERRIREE - BEHE1 28F RER 0 Muths ;141002708 — 3772518
HE$= 2011/03/22 06:00 - 2011/03/22 07:00 BiEZ =%HHZR $a1; : O%km X 92km
REKT—F = GPV-+ERME (2011/03/22 06:00) ¥T (A1)

‘ e e — -} {1 £ T L XL

1=5.00x10 ~14
2=1.00X10 4 cocccces
3=5.00X10 71 emecemecm
4=1.00x10 1} =—eemem—-

5=5. 00X 10 ~16 e

e

ST, o

90 Kin: o S S pE s o e - BABREBE=0.8x10 14u6y/h
%éﬁ =T Gl B B o BittaDFEILE 0.6 knibs (+EN)

ATEET /L& = PRWDA21
BREFIE= BEETN

1_ o Qd_f-m-*‘:, ' G S
s T e R FFEAY S atE KFEAM= 1.00 km

e B T BRm o AR e FRBEEE  =20000 MWD/MTU
e 0 L i L g RFIFE LR Z=2011/03/11 16:00
i EsaEEZ  =2011/03/22 06:00

_ Ry T [ = BRI
by MHEE - = (1§8) : Ba/h (Ba)
iy . \IJ\!%\H_!} EHR 1.00%10 0 (1. 00x10 0

_4ﬁ,;,umr AT
- ;—60 km ﬁlllﬁ ;—40 km

O 6EEHER 1 — 25IF




